
AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2013
CLASS : III

Time : 2 Hours / a]Ì̂  f 2 H³Oôç Full Marks / ]ÇPö X¶‘ö» / å]ç»Oô X¶‘öÌ[ý f (30+30+40)=100
General Knowledge / açWýç»S pûçX / açWýç»Ì[ýS pûçX

1. Which of these colours are common to the National Flags of India and Pakistan ?
Tö_» åEõçX åEõ+Oôç »e \öç»Tö %ç»Ó Yç×EõØšöçX =\öÌ̂ » LçTöÝÌ̂  YTöçEõçTö %çä$K÷ ?
XÝä»JôÌ[ý åEõçX Ì[ýem×_ \öçÌ[ýTö A[ýe Yç×EõØ™öçX =\öÌ^ Ì[ýçärÑôÌ[ý LçTöÝÌ̂  YTöçEõçãTö %çäK÷ ?
(A) White & Blue (B) Blue & Green (C) White & Green (D) Saffron

[ýGç %ç»Ó XÝ_ç XÝ_ç %ç»Ó åa=LÝÌ̂ ç [ýGç %ç»Ó åa=LÝÌ̂ ç åG»Ó¾ç
açVç A[ýe XÝ_ XÝ_ A[ýe a[ýÇL açVç A[ýe a[ýÇL åGÌ[ýÓÌ̂ ç

2. 'Classmate' notebook is a product of ...............
"zõç$K÷ã]Oô' åXçOô[ýÇEõ ............................. » =dYç×VTö aç]GÐÝ* / "zõçaã]Oô' FçTöç .............................. AÌ[ý =dYç×VTö aç]GÐÝ*
(A) Hindustan Lever (B) ITC (C) Indian Paper Corporation (D) None of these

×c÷³VÇØ™öçX ×_\öç» %ç+.×Oô.×$Jô. +×‰øÌ̂ çX åYYç» EõYïã»$JôX AOôçC Xc÷Ì̂
×c÷³VÇØ™öçX ×_\öçÌ[ý %ç+.×Oô.×a. +×‰øÌ̂ çX åYYçÌ[ý EõYïãÌ[ý`X AEõ×OôC XÌ̂

3. In the cartoon 'Tom & Jerry', Tom is a ..................
""Oô] A‰ø åL×»'' EõçOÇôÛXTö, Oô] éc÷ä$K÷ AOôç ....................................* / ""Oô] A‰ø åL×Ì[ý'' EõçOÇôÛãX Oô] c÷_ AEõ×Oô .....................................*

(A) (B) (C) (D)
4. Which of the following is not a type of computer ?

Tö_» åEõçXäOôç Eõ×¶Y=Oôç»» YÒEõç» Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô Eõ×¶Y=OôçãÌ[ýÌ[ý YÒEõçÌ[ý XÌ̂  ?
(A) Laptop (B) Notebook (C) Tablet (D) Capsule

å_YOôY åXçOô[ýÇEõ æOô[ýã_Oô åEõY$JÇô_/åEõYaÇ_
5. The school that is associated with Jawaharlal Nehru is ............

L¾çc÷»_ç_ åXc÷»Ó» _GTö a¶YEïõ UEõç •Çõ_FX éc÷ä$K÷ ..........................* / å^ •Çõ_ Lc÷CÌ[ý_ç_ åXc÷Ì[ýÓÌ[ý açãU L×QÍöTö åa×Oô c÷_ ........................*
(A) NAVYUG School (B) NAVODAYA School (C) SARVODAYA School(D) None of these

X[ý Ç̂G ×[ýVîç_Ì̂ Xã[ýçVÌ̂  ×[ýVîç_Ì̂ aã[ýïçVÌ̂  ×[ýVîç_Ì̂ AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
6. The animal that digests its food outside its body :

`»Ý»» [ýç×c÷»Tö FçVî Yç$JôX Eõ×»[ý Y»ç YÒçSÝ×[ýWý éc÷ä$K÷ ............................*
å^ YÒçSÝ Ì̀[ýÝãÌ[ýÌ[ý [ýç×c÷ãÌ[ý FçVîãEõ c÷L] EõãÌ[ý åa×Oô c÷_ ...........................*
(A) Caterpillar (B) Cricket (C) Termite (D) Spider

Y_Ç =ð+×$Jô×»Iøç =ð+ Y»Ó¾ç ]Eõ»ç
£gÌ̂ çãYçEõç ÙMõ×MõãYçEõç =+ãYçEõç ]çEõQÍöaç

7. Indian flag bearer at the opening ceremony of the 2012 London Olympics was ........
2012 $JôX» _‰øX %×_×¶YEõTö \öç»Tö» LçTöÝÌ̂  YTöçEõçWýç»Ý %ç×$K÷_ ..................*
2012 aãXÌ[ý _³QöX %×_×¶YãEõ \öçÌ[ýãTöÌ[ý LçTöÝÌ̂  YTöçEõçWýçÌ[ýÝ ×»»K÷ã_X .....................*
(A) Leander Paes (B) Abhinav Bindra (C) Vijender Singh (D) Sushil Kumar

×_ãÌ̂ ‰øç» åYL %×\öX¾ ×[ý³VÐç ×[ýãL³V» ×ae aÇ̀ Ý_ EÇõ]ç»
×_ãÌ̂ ³QöçÌ[ý åYL %×\öX[ý ×[ý³VÐç ×[ýãL³VÌ[ý ×ae aÇ̀ Ý_ EÇõ]çÌ[ý

8. Which of these units of weight is the largest ?
CLX» åEõçXäOôç AEõEõ %çOôç+TöêEõ QöçIø» ? / CLãXÌ[ý åEõçX AEõEõ a[ý»Jôç+ãTö [ýQÍö ?
(A) Quintal (B) Gram (C) Ton (D) Kilogram

EÇõ+ä°Oô_ GÐç] OôX ×Eõ. GÐç



9. 'Sur Kshetra', a reality show was telecast in ............
×»ãÌ̂ ×_×Oô %XÇœöçX "aÇ»-ålùy' ................. Tö a¶YÒ$Jôç×»Tö éc÷×$K÷_* / ×Ì[ýãÌ̂ ×_×Oô å`ç "aÇÌ[ýãlùy' .................... »JôîçãXã_ a¶YÒ»Jôç×Ì[ýTö c÷Ì̂ *

(A) (B) (C) (D)
10. The steel city 'Bokaro' is in .................

TöÝFç XG»Ý ""[ýÇEõçã»ç'' ............................Tö %¾×ØšöTö* / å_ìc÷ XGÌ[ýÝ å[ýçEõçãÌ[ýç ........................... Ì[ýçãLî %[ý×ØšöTö*
(A) Bihar (B) Madhya Pradesh (C) Jharkhand (D) Chhatisgarh

×[ýc÷ç» / ×[ýc÷çÌ[ý ]WýîYÒãV` Mõç»F‰ø / MõçQÍöF‰ø $K÷×wø`GQÍö
11. 'Pabitara wildlife' sanctuary is in the district of .................

""Y×[ýTö»ç %\öÌ̂ ç»Sî'' ............................. ×L_çTö* / Y×[ýTöÌ[ýç %\öÌ̂ çÌ[ýSî ....................... åL_çÌ̂ *
(A) Tinsukia (B) Nagaon (C) Morigaon (D) Golaghat

×Tö×X$JÇôEõÝÌ̂ ç / ×TöXaÇ×EõÌ̂ ç XGgçC ]×»GgçC / ]×Ì[ýGgçC åGç_çHçOô
12. If President is the head of India, then ............ is the head of Assam.

»çrÑôY×Tö ^×V \öç»Tö» ]Ç»[[ýÝ c÷Ì̂  åTöãÜ™ö %a]» ]Ç»[[ýÝ c÷[ý ..............................*
Ì[ýçrÑôY×Tö ^×V \öçÌ[ýãTöÌ[ý YÒWýçX c÷X, Töã[ý %çaçã]Ì[ý YÒWýçX c÷ã_X ........................*
(A) Governor (B) Chief Minister (C) Prime Minister (D) Speaker

»çLîYç_ / Ì[ýçLîYç_ ]ÉFî]Ü—öÝ YÒWýçX ]Ü—öÝ %Wýîlù
13. In a map '|||||0|||||' mark represents ..............

]çX×JôyTö A+ ×$Jôâó÷äOôçã¾ '|||||0|||||' ................................... Eõ [ýÇLçÌ̂ *
]çX×»Jôäy '|||||0|||||' ×»Jôc÷Ô×Oô ..................... åEõ [ýÇMõçÌ̂ *
(A) Roadways (B) Railways (C) District Border (D) None of these

[ýçOô-YU/^çXYU å»_YU/åÌ[ý_YU ×L_ç» aÝ]ç/åL_çÌ[ý aÝ]ç AOôçC Xc÷Ì̂ /AEõ×OôC XÌ̂
14. 'Sundarban' is the largest ................ in the world.

"aÇ³V»[ýX' YÊ×U¾Ý» %çOôç+TöêEõ QöçIø» .......................* / aÇ³VÌ[ý[ýX YÊ×U[ýÝÌ[ý a[ý»Jôç+ãTö [ýÊc÷d ........................*
(A) Island (B) Delta (C) Char area (D) Flood plain

¥ÝY [ý-¥ÝY $Jô» %‡û_/»JôÌ[ý %‡û_ YÀç¾X \Éö×]/YÀç[ýX \Éö×]
15. Find the missing term in the following.

'?' ×JôX» Pöç+» a×PöEõ =wø» [ý§C¾ç* / '?' ×»Jôæc÷ÔÌ[ý ØšöçãX a×PöEõ =wøÌ[ý [ýaçC*
9

3 3

    18
3 6     27

3 9     36
3 ?

(A) 12 (B) 15 (C) 39 (D) 33
16. 'National Education Day' is observed on ....................

........................... Töç×»ãF LçTöÝÌ̂  ×`lùç ×V¾a Yç_X Eõ»ç c÷Ì̂ * / ............................ Töç×Ì[ýãF "Ì[ýçrÑôÝÌ̂  ×`lùç ×V[ýa' Yç_X EõÌ[ýç c÷Ì̂ *
(A) September 21 (B) October 15 (C) November 11 (D) November 19

21 æ$JôãŠ¶‘ö»/æ»aä´Oô¶‘öÌ[ý 15 %ãkôç[ý»/%äkôç[ýÌ[ý 11 Xã\ö¶‘ö»/Xã\ö¶‘öÌ[ý 19 Xã\ö¶‘ö»/Xã\ö¶‘öÌ[ý
17. The lead role in the film 'Barfi' is played by ..............

"[ý×Zïõ' å[ýç_K÷×[ýTö ]ÉFî $Jô×»yTö %×\öXÌ̂  Eõ»ç [ýî×NþLX ...........................* / "[ý×Zïõ' »K÷çÌ̂ ç»K÷×[ýãTö ]ÇFî »Jô×Ì[ýäy %×\öXÌ̂  EõÌ[ýç [ýî×NþLX .....................*
(A) Ranveer Kapoor (B) Hrithik Roshan (C) Salman Khan (D) Farhan Akhtar

»S[ýÝ» EõçYÇ» c÷Ö×±¼öEõ å»ç$JôX $K÷_]çX FçX Zõç»c÷çX %çFTöç»
Ì[ýS[ýÝÌ[ý EõçYÇÌ[ý c÷Ö×Å±¼öEõ åÌ[ýç`X a_]çX FçX ZõçÌ[ýc÷çX %çFTöçÌ[ý

18. The largest organ in the human body is .................
]çX¾ åVc÷Tö UEõç %çOôç+TöêEõ QöçIø» %eGäOôç c÷'_ ..........................* / ]çX[ýãVãc÷Ì[ý a[ý»Jôç+ãTö [ýQÍö %eG ...........................................*
(A) Large intestine (B) Skin (C) Stomach (D) Liver

[ýÊc÷VçÜ—ö $K÷ç_ / ±¼öEõ YçEõØšö_Ý ^EÊõd



19. If 'Sudhakantha' is Dr. Bhupen Hazarika, then 'Hastir Kanya' is ..............
^×V aÇWýçEõ¢ö Qö0 \ÉöãYX c÷çL×»Eõç c÷Ì̂ , åTöãÜ™ö "c÷Ø™öÝ» EõXîç' c÷[ý ....................*
^×V aÇWýçEõ¢ö Qöf \ÉöãYX c÷çLç×Ì[ýEõç c÷X, Töã[ý "c÷Ø™öÝÌ[ý EõXîç' ..........................c÷ã[ýX*
(A) Mamoni Raisom Goswami (B) Dipali Borthakur

]ç]×X »Ì̂ $Jô] åGçØ‘öç]Ý / ]ç]×X Ì[ýÌ̂ a] åGçØ‘öç]Ý ×VYç_Ý [ý»PöçEÇõ» / ×VYç_Ý [ýÌ[ýPöçEÇõÌ[ý
(C) Pratima Pandey (D) Minati Khound

YÒ×Tö]ç Yçã‰ø / YÒ×Tö]ç Yçã³Qö ×]X×Tö Fç=³V
20. 'Me Dum Me-Phi' is observed mainly by ...........

"å]-Qöç]-ã]-×Zõ' ]É_Töf ...................... aEõã_ Yç_X Eõã»* / "å]-Qöç]-å]-×Zõ' ]É_Töf ..................... aEõã_ Yç_X EõãÌ[ý*
(A) Boros (B) Ahoms (C) Rabhas (D) Tiwas

[ýäQÍöç %çãc÷ç] »ç\öç / Ì[ýç\öç ×Tö¾ç / ×TöCÌ̂ ç
21. Kerala is famous for ...............

åEõ»ç_ç ............................. » [ýçã[ý ×[ýFîçTö* / åEõÌ[ý_ ........................... AÌ[ý LXî ×[ýFîçTö*
(A) Coconut (B) Dates (C) Betelnut (D) Cherry

Xç×»Eõ_ / Xç×Ì[ýãEõ_ åFLÇ» / åFLÇÌ[ý Töçã]ç_ / aÇYçÌ[ýÝ æ$Jô×» / å»JôÌ[ýÝ
22. "Richter Scale" is used to measure the intensity of .................

....................... » YÒç¾_î LÇ×F[ýê_ ×»FOôç» å•õ_ [ýî¾c÷ç» Eõ»ç c÷Ì̂ * / ........................... AÌ[ý YÒç[ý_î ]çYçÌ[ý LXî ×Ì[ýEõOôçÌ[ý å•õ_ [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂ *
(A) Volcanoes (B) Light Energy (C) Earthquake (D) Storms

%çäGÂÌ̂ ×G×» / %çäGÂÌ̂ ×G×Ì[ý %çã_çEõ ̀ ×Nþ \Éö×]Eõ¶Y WýÇ]Çc÷ç / MõQÍö
23. Barack Obama is to the U.S.A. as ................. is to India.

%çã]×»Eõç Ç̂Nþ»çrÑô» ålùyTö [ýç»çEõ C[ýç]ç c÷ã_ \öç»Tö» ålùyTö ................................ c÷[ý*
[ýçÌ[ýçEõ C[ýç]ç %çã]×Ì[ýEõçãTö c÷ã_, .............................. c÷ã[ýX \öçÌ[ýãTö*
(A) Rahul Gandhi (B) Dr. Manmohan Singh (C) Pranab Mukherjee (D) Tarun Gogoi

»ç§_ GçµùÝ / Ì[ýç§_ GçµùÝ Qö0 ]Xã]çc÷X ×ae YÒS¾ ]ÉFçLÞ / YÒS[ý ]ÇFçLÞ Tö»ÓS GêG / TöÌ[ýÓS GêG
24. The Chief Guest of the Republic Day 2013 was from ..................

2013 $JôX» GSTöÜ—ö ×V¾a» ]ÉFî %×Tö×ULX .......................... » %ç×$K÷_* / 2013 aãXÌ[ý GSTöÜ—ö ×V[ýãaÌ[ý ]ÇFî %×Tö×ULX ............................ åVã Ì̀[ý ×»K÷ã_X*
(A) Nepal (B) Bhutan (C) Malaysia (D) Bahrain

åXYç_ \ÉööOôçX ]ç_ãÌÌ̂ ×$K÷Ì̂ ç/]ç_ãÌ̂ × Ì̂̀ ç [ýçc»ç+X/[ýçc÷×Ì[ýX
25. Which of the following is not an input device ?

Tö_» åEõçXäOôç AOôç +XYÇOô %ç×c÷_ç Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô AEõ×Oô +XYÇOô ×Qö\öç+a XÌ̂  ?
(A) Keyboard (B) Scanner (C) Printer (D) Mouse

×Eõ'[ýQïö å•õXç» / å•õXçÌ[ý ×YÒ°Oôç» / ×YÒ°OôçÌ[ý ]ç=$Jô / ]ç=a
26. Which of the following deserts is in India ?

Tö_» åEõçXFX ]»Ó\Éö×] \öç»TöTö %¾×ØšöTö ? / XÝä»JôÌ[ý åEõçX ]Ì[ýÓ\Éö×] \öçÌ[ýãTö %[ý×ØšöTö ?
(A) Gobi (B) Sahara (C) Thar (D) Atacama

åGç[ýÝ $K÷çc÷ç»ç / açc÷çÌ[ýç U» / UÌ[ý %çOôçEõç]ç
27. Find out the odd one.

%×]_äOôç [ýç×$K÷ =×_C¾ç ? / %×]_×Oô å[ýä»K÷ XçC*

(A) + (B)

:

(C) < (D)

X

28. 'LUMIA 510' Mobile handset is a product of ....................
'LUMIA 510' å]ç[ýç+_äOôç .............................. åEõç¶YçXÝ» ¥ç»ç =dYç×VTö åc÷‰øä$JôOô*
'LUMIA 510' å]ç[ýç+_×Oô .......................... åEõç¶YçXÝÌ[ý ¥çÌ[ýç =dYç×VTö åc÷³QöãaOô*

(A) (B) (C) (D)



29. The symbol  stands for ..............

 ×$Jôc÷ÔäOôç .............................. » _GTö L×QÍöTö* /  ×»Jôc÷Ô×Oô ............................... AÌ[ý açãU L×QÍöTö*

(A) State Bank of India (B) United Bank of India (C) Axis Bank (D) Punjab National Bank
ærôOô å[ýeEõ %¾ +×‰øÌ̂ ç +=Xç+äOôQö å[ýeEõ %¾ +×‰øÌ̂ ç A×j$K÷ å[ýeEõ Yçtç¾ åX$K÷ãX_ å[ýeEõ
æºOôOô å[ýáø %[ý +×‰øÌ^ç +=Xç+äOôQö å[ýáø %[ý +×‰øÌ^ç A×ja å[ýáø Yçtç[ý åX`ãX_ å[ýáø

30. 'Panchatantra' was written by ..................
.................................. Y‡ûTöÜ—ö »$JôXç Eõ×»×$K÷_* / ...................................... "Y‡ûTöÜ—ö' Ì[ý»JôXç EõãÌ[ýX*
(A) Vishnu Varma (B) Kalidasa (C) Chanakya (D) Ravi Varma

×[ýbÇÕ \öç]ïç Eõç×_Vça JôçSEõî »×[ý \öç]ïç / Ì[ý×[ý \öç]ïç

General Science / açWýç»S ×[ýpûçX / açWýç»Ì[ýS ×[ýpûçX

31. Which of the following senses works for a tiger at night ?
[ýçH» åEõçXäOôç %XÇ\Éö×TöãÌ̂  »ç×Tö Eõç] Eõã» ? / [ýçãHÌ[ý åEõçX %XÇ\Éö×Tö×Oô Ì[ýç×Åy å[ý_çÌ^ EõçL EõãÌ[ý ?
(A) Sense of touch (B) Sense of smell (C) Sense of sight (D) All of these

& ï̀ %XÇ\Éö×Tö HÐçS`×Nþ VÊ×rồ ×Nþ %çOôç+ãEõ+Oôç/a[ýEõÌ̂ ×Oô
32. Which of the following statements is true ?

Tö_» åEõçXäOôç =×Nþ aTöî ? / XÝä»JôÌ[ý åEõçX =×Nþ×Oô aTöî ?
(A) All animals lay eggs (B) All animals give birth to young ones

aEõã_ç YÒçSÝãÌ̂  EõSÝ Yçã» / aEõ_ YÒçSÝ ×Qö] YçãQÍö aEõã_ç YÒçSÝãÌ̂  åYç¾ç×_ LX½ ×VãÌ̂  / aEõ_ YÒçSÝ [ýç¬Jôç LX½ åVÌ̂
(C) All animals have backbone (D) All animals depend on others for food

aEõã_ç YÒçSÝ» »çLc÷çQÍö %çä$K÷ aEõã_ç YÒçSÝ FçVî» [ýçã[ý %çX» CY»Tö ×X\öÛ»`Ý_
aEõ_ YÒçSÝÌ[ý å]Ì[ýÓV‰ø %çä»K÷ aEõ_ YÒçSÝ FçãVîÌ[ý LXî %YãÌ[ýÌ[ý =YÌ[ý ×X\öÛÌ[ý`Ý_

33. Plants absorb carbon dioxide through .................
=×àöãV ..................................... » ac÷çÌ̂ Tö Eõç[ýïX Qöç+-%jç+Qö å`çbS Eõã»* / =×àöV ............................. AÌ[ý açc÷çã^î Eõç[ýïX-Qöç+-%jç+Qö å`çbS EõãÌ[ý*
(A) stem (B) leaves (C) roots (D) fruits

Eõç‰ø YçTö / YçTöç ×`Yç / ]É_ Zõ_
34. Which of the following breathes through gills ?

Tö_» åEõçXäOôçã¾ ZÇõã_ã» =`çc÷-×X`çc÷ _Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô ZÇõ_EõçÌ[ý ¥çÌ[ýç ̀ Ÿça åXÌ̂  ?

(A) (B) (C) (D)

35. Which of the following is not a function of the roots ?
Tö_» åEõçXäOôç ×`Yç» Eõç] Xc÷Ì̂  ? / XÝä»JôÌ[ý åEõçX×Oô ]Éã_Ì[ý Eõç ï̂ XÌ̂  ?
(A) Providing Support (B) Production of food (C) Storage of food (D) Absorption of water

G$K÷ãLçYçEõ Wý×» »Fç FçVî éTöÌ̂ ç» Eõ»ç FçVî a‡ûÌ̂  Eõ»ç YçXÝ %ç»Ó F×XL _¾X å`çbS Eõ»ç
Gç»K÷ãEõ WýãÌ[ý Ì[ýçFç FçVî éTöÌ̂ çÌ[ý EõÌ[ýç, FçVî a‡ûÌ̂  EõÌ[ýç L_ A[ýe F×XL _[ýS å`çbS EõÌ[ýç

36. Identify the correct food chain from the following .
Tö_» £ˆù FçVî ̀ ÊeF_äOôç [ýç×$K÷ =×_C¾ç* / £ˆù FçVî Ề…_ç×Oô å[ýä»K÷ XçC*

(A)  →  → (B)  ←  ← 

(C)  ←  ← (D)  →  → 



37. Which of the following is not an omnivore ?
Tö_» åEõçXäOôç a[ýï\ölùÝ Xc÷Ì̂  ? / ......................... a[ýï\ÇöEõ XÌ̂ *

(A) (B) (C) (D)

38. Which of the following can run the fastest ?
Tö_» åEõçXäOôçã¾ %çOôç+TöêEõ å[ýGç+ åVì×»[ý Yçã» ? / XÝä»JôÌ[ý åEõçX×Oô a[ý»Jôç+ãTö VÐÓTöã[ýãG åVìQÍöçãTö YçãÌ[ý ?

(A) (B) (C) (D)

39. Which of the following birds does not fly at all ?
Tö_» åEõçX×[ýWý $Jô»ç+ =×»[ý åXç¾çã» ? / XÝäJôÌ[ý åEõçX YçFÝ×Oô =QÍöãTö YçãÌ[ý Xç ?
(A) Kiwi (B) Ostrich (C) Penguin (D) All of these

×Eõ×¾ / ×Eõ=+ =OôYlùÝ åY†Ç+X %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
40. Which part of the plant carries prepared food in the leaves to the other parts of the plant ?

=×àöV» åEõçXäOôç %e`+ YçTöTö =dY~ åc÷ç¾ç FçVî =×àöV» ×[ý×\ö~ %e`ê_ Eõ×RÍôÌ̂ ç+ ×XãÌ̂  ?
=×àöãVÌ[ý åEõçX %e` YçTöçÌ̂  =dY~ c÷CÌ̂ ç FçVî =×àöãVÌ[ý ×[ý×\ö~ %eã` aÌ[ý[ýÌ[ýçc÷ EõãÌ[ý ?
(A) Roots (B) Leaves (C) Stem (D) Flowers

×`Yç / ]É_ YçTö / YçTöç Eõç‰ø ZÇõ_
41. Which of the following stores food for the baby plant ?

Tö_» åEõçXäOôçä¾ YÇ×_» [ýçã[ý FçVî a‡ûÌ̂  Eõã» ? / XÝä»JôÌ[ý åEõçX×Oô »JôçÌ[ýçÌ[ý LXî FçVî a‡ûÌ̂  EõãÌ[ý ?
(A) Leaf (B) Seed (C) Stem (D) Root

YçTö / YçTöç [ýÝL Eõç‰ø ×`Yç / ]É_
42. Most of the fertilisers are made of ..................

YÒçÌ̂  \öçG aç» ...................... å» éTöÌ̂ ç»Ý* / YÒçÌ̂ \öçG+ açÌ[ý ............................ ¥çÌ[ýç éTöÌ̂ çÌ[ýÝ*
(A) Carbon dioxide (B) Oxygen (C) Nitrogen (D) Water vapour

Eõç[ýïX Qöç+-%jç+Qö %×jãLX Xç+®ÏôãLX L_ÝÌ^ [ýç¹Y
43. Which of the following is the best soil for growing coconut ?

Tö_» åEõçX×[ýWý ]ç×Oô Xç×»Eõ_ åF×Tö» [ýçã[ý =wø] ? / Xç×Ì[ýãEõã_Ì[ý »JôçãbÌ[ý LXî =wø] ................................*
(A) Sandy (B) Loamy (C) Clay (D) None of these

[ýç×_$Jôc÷ÝÌ̂ ç ]ç×Oô / [ýç×_]ç×Oô Y_aÇ¾ç ]ç×Oô / açÌ[ý]ç×Oô å[ýçEõç]ç×Oô / EõçVç]ç×Oô AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
44. In how many states can water exist ?

YçXÝ åEõ+Oôç %¾ØšöçTö Uç×Eõ[ý Yçã» ? / L_ EõÌ̂ ×Oô %[ýØšöçÌ̂  UçEõãTö YçãÌ[ý ?
(A) 1 (B) 2 (C) 3 (D) 4

45. What do 1, 2, 3 and 4 in the processes shown below represent ?
Tö_Tö ×VÌ̂ ç YÒ×yÔÌ̂ çã[ýç»Tö 1, 2, 3 %ç»Ó 4 åÌ̂  ×Eõ aÇ$JôçÌ̂  ? / XÝä»Jô åVCÌ̂ ç YÒ×yÔÌ̂ çm×_ãTö 1, 2, 3 A[ýe 4 ×Eõ [ýÇLçÌ̂  ?

Water 1  Steam 2  Water,  Ice 3  Water 4  Steam
YçXÝ 1  [ýç¹Y 2  YçXÝ, [ý»Zõ 3  YçXÝ 4  [ýç¹Y / L_ 1  [ýç¹Y 2  L_, [ýÌ[ýZõ 3  L_ 4  [ýç¹Y

(A) 1- heat, 2- cool, 3- cool, 4- heat (B) 1- heat, 2- cool, 3- heat, 4- heat
1- TöçY, 2- Pöç‰øç, 3- Pöç‰øç, 4- TöçY 1- TöçY, 2- Pöç‰øç, 3- TöçY, 4- TöçY

(C) 1- cool, 2- heat, 3- heat, 4- heat (D) 1- cool, 2- cool, 3- heat, 4- cool
1- Pöç‰øç, 2- TöçY, 3- TöçY, 4- Pöç‰øç 1- Pöç‰øç, 2- Pöç‰øç, 3- TöçY, 4- Pöç‰øç



46. Weather is predicted by considering ..................
............................. » CY»Tö ×\ö×wø Eõ×» [ýTö»» %çGLçXXÝ ×VÌ̂ ç c÷Ì̂ * / ....................... AÌ[ý =YÌ[ý ×\ö×wø EõãÌ[ý %ç[ýc÷çCÌ̂ çÌ[ý YÉ[ýïç\öça åVCÌ̂ ç c÷Ì̂ *
(A) the movement of air (B) amount of water vapour (C)  temperature (D) All of these

[ýTöçc÷» $Jô_ç$Jô_ L_ÝÌ̂  [ýç¹Y» Y×»]çS       =bÕTöç %çOôç+ãEõ+Oôç
[ýçTöçãaÌ[ý »Jô_ç»Jô_ L_ÝÌ̂  [ýçã¹YÌ[ý Y×Ì[ý]çS a[ýEõÌ̂ ×Oô

47. Which of the following is not dissolved in kerosene ?
Tö_» åEõçX×[ýWý åEõ»ç×$JôXTö VÐ¾Ý\ÉöTö Xc÷Ì̂  ? ........................ åEõãÌ[ýç×aãX VÐ[ýÝ\ÉöTö c÷Ì̂  Xç*
(A) Wax (B) Salt (C) Sugar (D) Both B & C

]] ×X]F / _[ýS æ$Jô×X / ×Jô×X B %ç»Ó C =\öÌ̂  / B A[ýe C =\öÌ̂
48. Land breeze blows in the ......................

Øšö_[ýTöçc÷ .................................. [ýã_* / Øšö_[ýçÌ̂ Ç ..................................... [ýÌ̂ *
(A) day time (B) noon time (C) night time (D) morning

×VXTö / ×VãX VÇY»ÝÌ̂ ç / VÇYÇãÌ[ý »ç×Tö / Ì[ýçåTö »ç×TöYÇ¾ç / aEõçã_
49. The sun is a .....................

aÉ̂ ïîäOôç AOôç ..............................* / aÉ̂ ï AEõ×Oô .........................*
(A) planet (B) comet (C) satellite (D) star

GÐc÷ WýÇ]ãEõTÇö =YGÐc÷ Xlùy
50. What causes days and nights ?

×VX-»ç×Tö ×Eõc÷» [ýçã[ý c÷Ì̂  ? / ×V[ýç-Ì[ýç×Åy c÷CÌ̂ çÌ[ý EõçÌ[ýS........................*
(A) Earth's rotation (B) Earth's revolution (C) Sun's rotation (D) Sun's revolution

YÊ×U¾Ý» %ç×c÷ÔEõ G×Tö YÊ×U¾Ý» [ýç×bïEõ G×Tö aÉ̂ ï» %ç¾TöÛX aÉ̂ ïî» YÒV×lùS
YÊ×U[ýÝÌ[ý %ç×c÷ÔEõ G×Tö YÊ×U[ýÝÌ[ý [ýç×bïEõ G×Tö aÉã ï̂Ì[ý %ç[ýTöÛX aÉã ï̂Ì[ý YÒV×lùS

51. The nervous system is made of .................
ØoöçÌ̂ ÇTöÜ—ö .............................. å» G×PöTö* / ØoöçÌ̂ ÇTöÜ—ö ...................... ¥çÌ[ýç G×PöTö*
(A) brain (B) spinal cord (C) nerves (D) All of these

]GLÇ / ]GL å]»Ó]#ç / å]Ì[ýÓV‰ø ØoöçÌ̂ Ç %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
52. Which of the following is an antiseptic ?

Tö_» åEõçXäOôç YÒ×Töã»çWýEõ ? / XÝä»JôÌ[ý åEõçX×Oô YÒ×TöãÌ[ýçWýEõ ?
(A) Boroplus (B) Savlon (C) Lyzol (D) All of these

[ý»'YÀç$Jô / [ýãÌ[ýçYÀça æ$Jô\ö_X / åa\ö_X _ç+L_ %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô
53. The odd one is .................

%×]_äOôç éc÷ä$K÷ .......................* / %×]_×Oô c÷_ .........................*ý
(A) kidneys-sweat (B) lungs-carbon di-oxide (C) kidneys-urine (D) skin-sweat

[ýÊhõ-Hç] c÷çCg-ZõçCg-Eõç[ýïX Qöç+ %jç+Qö [ýÊhõ-]Éy $K÷ç_-Hç]
[ýÊhõ-Hç] ZÇõaZÇõa-Eõç[ýïX Qöç+ %jç+Qö [ýÊhõ-]Éy ±¼öEõ-Hç]

54. We should not fly kites .................
%ç×] ........................... ×$Jô_ç =»ç[ý Xç_çãG* / %ç]çãVÌ[ý ..................... HÇ×QÍö =QÍöçãTö _çãG Xç*
(A) in parks (B) on school ground (C) on open ground (D) on the terrace

YçEïõTö •Çõ_» åF_ YUç»Tö ]ÇEõ×_ Pöç+Tö $JôçVTö
YçãEïõ •Çõã_Ì[ý ]çäPö åFç_ç LçÌ̂ GçÌ̂ »K÷çãV

55. Which of the following is used to see disease-causing germs ?
Tö_» åEõçXäOôç å[ý]ç»» [ýÝLçSÇ Y»ÝlùS Eõ×»[ýê_ [ýî¾c÷ç» Eõ»ç c÷Ì̂ *
............................ åÌ[ýçãGÌ[ý [ýÝLçSÇ YÌ[ýÝlùS EõÌ[ýãTö açc÷ç^î EõãÌ[ý*

(A) (B) (C) (D)



56. Which of the following keep insects away from the clothes ?
Tö_» åEõçX×[ýãWý åYçEõ-Y»Ó¾çEõ EõçãYç»» Y»ç %çTö» Eõ×» »çãF ?
XÝä»JôÌ[ý åEõçX×Oô åYçEõç]çEõQÍöãEõ EõçYQÍö ãUãEõ VÉãÌ[ý Ì[ýçãF ?
(A) naphthalene balls (B) medicines (C) dried leaves of neem (D) Both A and C

EõYÉï» m×Oô DbWý ×X]» £EõçX YçTö A %ç»Ó C =\öÌ̂
XçZõUç×_X [ý_ DbWý ×Xã]Ì[ý £EõXç YçTöç A A[ýe C =\öÌ̂

57. Which of the following sources of energy is not used as a fuel for cooking ?
Tö_» åEõçX×[ýWý ̀ ×Nþ» =daEõ »µùçTö +µùX ×c÷$JôçãY [ýî¾c÷ç» Eõ»ç Xc÷Ì̂  ?
............................. åEõ Ì[ýç~çÌ̂  +µùX ×c÷açã[ý [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂  Xç*
(A) Natural gas (B)  Petrol (C) Gobar gas (C) Kerosene

YÒçEÊõ×TöEõ åG$K÷ / YÒçEÊõ×TöEõ Gîça       åY®Ïô_ åGç[ý» åG$K÷ / åGç[ýÌ[ý Gîça åEõ»ç×$JôX / åEõãÌ[ýç×aX
58. How many centimeter are there in 5.325 km ?

5.325 ×Eõf ×]Oôç»Tö ×Eõ]çX æ$K÷f ×]Oôç» ?
5.325 ×Eõã_ç×]OôçãÌ[ý EõTö åa×³Oô×]OôçÌ[ý ?
(A) 53250 cm (B) 532500 cm (C) 3525 cm (D) None of these

53250 æK÷.×]/åa.×] 532500 æK÷.×]/åa.×] 3525 æK÷.×]/åa.×] AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
59. The number of digits in a PIN code is ..................

×YX EõQöTö UEõç %eEõ» aeFîç ..........................* / ×YXãEõçãQö UçEõç %eãEõÌ[ý aeFîç .........................................*
(A) 10 (B) 11 (C) 6 (D) 8

60. Chipko Movement is against .................
×$JôYãEõç %çã³Vç_ãX ............................. Eõ [ýçWýç ×VãÌ̂ * / ×»JôYãEõç %çã³Vç_X ......................... åEõ [ýçWýç åVÌ̂ *
(A) cutting down of trees       (B)  culling of birds (C) planting of trees (D) All of these

G$K÷-G$K÷×X EõOôç / Gç»K÷Yç_ç EõçOôç     YlùÝ ×XWýX [ýÊlù å»çYS / [ýÊlù åÌ[ýçYS %çOôç+ãEõ+Oôç / a[ýEõÌ̂ ×Oô

General Maths / açWýç»S G×STö / açWýç»Ì[ýS G×STö

61. The smallest one digit number is .......................
AOôç %eEõ ×[ý×`rô %çOôç+TöêEõ a»Ó aeFîçäOôç .................................*
AEõ %eEõ ×[ý×`rô a[ý»Jôç+ãTö æ»K÷çOô aeFîç×Oô c÷_ ................................
(A) 0 (B) 1 (C) 2 (D) 3

62. Which of the following statements is correct ?
Tö_» åEõçXäOôç =×Nþ a$gJôç ? / a×PöEõ =wøÌ[ý [ýç×c÷Ì[ý EõÌ[ý*
(A) 321 < 235 (B) 420 > 510 (C) 725 < 638 (D) 827 > 639

63. Find the missing number.
_ÇŠ YVäOôç [ýç×$Jô =×_C¾ç* / _ÇŠ YV×Oô å[ýäK÷ XçC*

597 = 500 + ?  x 10 + 7
(A) 597 (B) 97 (C) 90 (D) 9

64. Write down the numbers from 1 to 25 one after the other. Which digit is on the 25th place ?
1 » Y»ç 25 é_ãEõ aeFîç×F×X yÔ]çXŸãÌ̂  ×_×F Gã_ Y×$Jô`Tö] ØšöçXTö åEõçXäOôç %eEõ Uç×Eõ[ý ?
1 åUãEõ 25 Y ï̂Ü™ö aeFîçm×_ãEõ yÔ]çXŸãÌ̂  ×_ãF åGã_ Y‡û×[ýe`×TöTö] ØšöçãX åEõçX aeFîç×Oô UçEõã[ý ?
(A) 7 (B) 5 (C) 3 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂



65. Looking at (p), choose the required numbers for (q) is ..............
(p) Eõ %XÇa»S Eõ×» (q) » [ýçã[ý ×U»çe Eõ»ç aeFîçã[ýç» ............................. /
(p) åEõ %XÇaÌ[ýS EõÌ[ýã_ (q) AÌ[ý (?) ØšöçãXÌ[ý aeFîçm×_ .......................*

(p)   
4

3 1
(q)  

4

? ?

(A) 1 and 3 (B) 2 and 4 (C) 2 and 3 (D) 2 and 2
1 %ç»Ó 3 2 %ç»Ó 4 2 %ç»Ó 3 2 %ç»Ó 2
1 A[ýe 3 2 A[ýe 4 2 A[ýe 3 2 A[ýe 2

66. The next number in the series 1, 2, 5, 10, 17, ...................... is :
1, 2, 5, 10, 17, .............  æ Ò̀SÝäOôç» Y»[ýwøÞ aeFîçäOôç f
1, 2, 5, 10, 17, ........... æ Ò̀SÝ×OôÌ[ý YÌ[ý[ýTöÞ aeFîç×Oô c÷_ .....................*
(A) 20 (B) 22 (C) 24 (D) 26

67. There are 90 fruits in a basket. Out of which 33 are apples and 24 bananas. Which one of the following shows
the number of oranges in the basket ?
AOôç Yç$×JôTö 90 Oôç Zõ_ %çä$K÷, Töçã» 33 Oôç %çãY_, 24 Oôç Eõ_ %ç»Ó [ýçEõÝã[ýç» Eõ]_ç c÷ã_ Tö_» åEõçXäOôç açe×FîEõ [ýçEõî+ Yç$×JôTö UEõç Eõ]_ç»
aeFîç [ýÇLç[ý ?
AEõ×Oô MÇõ×QÍöãTö 90×Oô Zõ_ %çä»K÷* +c÷çÌ[ý 33×Oô %çãY_, 24×Oô Eõ_ç A[ýe [ýçEõÝm×_ Eõ]_ç c÷ã_ XÝä»JôÌ[ý åEõçX×Oô MÇõ×QÍöãTö UçEõç Eõ]_çÌ[ý aeFîç [ýÇMõçÌ̂  ?
(A) 90-33+24 (B) 90+24+33 (C) 90+33-24 (D) 90-24-33

68. Difference between 25 and 2005 is .................
25 %ç»Ó 2005 » YçUïEõî ...........................*
25 A[ýe 2005 AÌ[ý YçUïEõî ...........................*
(A) 180 (B) 1980 (C) 1030 (D) 30

69. 1000 - how many tens = 430 ?
1000 - ×Eõ]çX V`Eõ = 430 ? / 1000 - EõTö V`Eõ = 430 ?
(A) 43 (B) 430 (C) 57 (D) 570

70. 17 x 5 = (10x5) + (...... x 5)
(A) 1 (B) 3 (C) 5 (D) 7

71. How many times will you be able to subtract 4 from 169 ?
169 » Y»ç 4 ×Eõ]çX[ýç» ×[ýãÌ̂ çG Eõ×»[ý Yç×» ?
169 åUãEõ 4 EõTö[ýçÌ[ý ×[ýãÌ^çG EõÌ[ýãTö Yç×Ì[ý ?
(A) 14 (B) 42 (C) 68 (D) 84

72. Which of the following is wrong ?
Tö_» åEõçXäOôç \Çö_ ? / XÝä»JôÌ[ý åEõçX×Oô \Çö_ ?
(A) 165 ÷ 5 < 165 x 0 (B) 534 ÷ 6 > 40 x 2
(C) 5 x 70 = 70 + 70 + 70 + 70 + 70 (D) 9563 - 5369 = 4000 + 100 + 90 + 4

73. The greatest number among the following is ................
Tö_» %çOôç+TöêEõ QöçIø» aeFîçäOôç ..................................*
.................................... c÷_ XÝä»Jô UçEõç a[ý»Jôç+ãTö [ýQÍö aeFîç*
(A) 95  5 (B) 95 - 5 (C) 95 x 5 (D) 95 ÷ 5

74. Which of the following fractions is the smallest ?
Tö_» åEõçXäOôç \öGÂçe` %çOôç+TöêEõ a»Ó ?
a[ý»Jôç+ãTö æ»K÷çOô \öGÂçe`×Oô c÷_ ............................*

(A)

1
2

(B)

3
5

(C)

5
7

(D)

1
9



75. What fraction does the shaded part represent ?
$Kg÷çã» %ç[ýÊTö %e`+ åEõçXäOôç \öGÂçe`Eõ [ýÇLç[ý ? / »K÷çÌ̂ çÌ̂  %ç[ýÊTö %e` XÝä»JôÌ[ý åEõçX \öGÂçe`×OôãEõ [ýÇMõçÌ̂  ?

(A) 1
7

(B)

1
4

(C)

1
3

(D)

1
8

76. There are 40 match sticks in a match box. Lila uses 3 match sticks every day. The fraction of match sticks she
uses in a week is ...............
AOôç LÇ+`_ç [ýçEõ$JôTö ]ÇPö 40 Oôç LÇ+`_ç %çä$K÷* _Ý_ç+ YÒ×Tö×VãX 3 OôçêEõ LÇ+`_ç [ýî¾c÷ç» Eõ×»ã_, Töç+ AaŠçc÷Tö ×Eõ]çX %e` LÇ+`_ç [ýî¾c÷ç»
Eõ×»[ý ?
AEõ×Oô ×VÌ̂ ç`_ç+ [ýçãj å]çOô 40 ×Oô Eõç×Pö %çä»K÷* _Ý_ç YÒ×Tö×VãX 3 ×Oô Eõç×Pö [ýî[ýc÷çÌ[ý Eõ×Ì[ýã_ AEõaŠçãc÷ EõTöOÇôEÇõ Eõç×Pö [ýî[ýc÷çÌ[ý EõÌ[ýãTö YçÌ[ýã[ý ?

(A)

9
40

(B)

3
40

(C)

1
7

(D)

21
40

77. Which of the following shows the fractions in ascending order ?
Tö_» åEõçXäOôç =WýïyÔ]Tö %çä$K÷ ? / XÝä»JôÌ[ý åEõçX×Oô =WýïyÔã] %çä»K÷ ?

(A)

1 1 1, ,
2 8 4

(B)

1 1 1, ,
4 2 8

(C)

1 1 1, ,
8 4 2

(D)

1 1 1, , ,
2 4 8

78. How many 100 rupee notes make a sum of  1 lakh ?
×Eõ]çXOôç 100 OôEõÝÌ̂ ç åXçOô AãEõ _G Eõ×»ã_ 1 _çF OôEõç c÷[ý ?
1 _çF OôçEõçÌ̂  EõTö×Oô 100 OôçEõçÌ[ý åXçOô UçEõã[ý ?
(A) 10 (B) 100 (C) 500 (D) 1000

79. 0.45 + 0.90 + 1.50 = ..................
(A) 1.85 (B) 2.80 (C) 2.85 (D) 2.75

80. Which of these sets of coins has the greatest value ?
åEõçX åEõ+Oôç ]ÇVÐç» ]çX %×WýEõ c÷[ý  ? / XÝä»JôÌ[ý åEõçX×OôãTö ]ÇVÐçÌ[ý ]çX a[ý»Jôç+ãTö å[ý`Ý ?
(A) 6 fifty paise coins (B) 4 one-rupee coins (C) 3 two-rupee coins (D) 1 five rupee coin

6 Oôç Y‡ûç` Y+$Jôç» ]ÇVÐç 4 Oôç AOôEõç» ]ÇVÐç 3 Oôç 2 OôEõç» ]ÇVÐç 1 Oôç Ygç$Jô OôEõç» ]ÇVÐç
6 ×Oô Y‡ûç` YÌ̂ açÌ[ý ]ÇVÐç 4 ×Oô AEõOôçEõçÌ[ý ]ÇVÐç 3 ×Oô 2 OôçEõçÌ[ý ]ÇVÐç 1 ×Oô Ygç»Jô OôçEõçÌ[ý ]ÇVÐç

81. In India which coin does not exist ?
\öçTö»[ýbïTö åEõçXäOôç ]ÇVÐç» [ýwïø]çX YÒ$Jô_X Xç+ ?
\öçÌ[ýTö[ýãbï åEõçX ]ÇVÐçÌ[ý YÒ»Jô_X [ýTöÛ]çãX åX+ ?

(A) (B) (C)                  (D)

82. There are ................. days in a year
AEõ [ý$K÷»Tö ..................................... ×VX* / AEõ [ý»K÷ãÌ[ý ........................... ×VX*
(A) 364 (B) 366 (C) 365 (D) Either B or C

B %U[ýç C
83. The sum of 6 years 8 months and 3 years 6 months = ...................... months.

6 [ý$K÷» 8 ]çc÷ %ç»Ó 3 [ý$K÷» 6 ]çc÷» å^çGZõ_ = ................. ]çc÷
6 [ý»K÷Ì[ý 8 ]ça A[ýe 3 [ý»»K÷Ì[ý 6 ]çãaÌ[ý å^çGZõ_ = ................. ]ça*
(A) 66 (B) 104 (C) 122 (D) 108

Both B and C
B %ç»Ó C =\öÌ̂  / B A[ýe C =\öÌ̂



84. The minute hand moves .............. times round the clock in one day.
AOôç HQÍöÝ» ×]×XOô» EõçgOôçQöç_ A×VXTö ............................. YçEõ HÉã»*
AEõ×Oô H×QÍöÌ[ý ×]×XäOôÌ[ý EõçOôç AEõ×VãX .......................... [ýçÌ[ý åHçãÌ[ý*
(A) 60 (B) 3600 (C) 24 (D) 120

85. 99 kg ÷ 3kg = ....................
(A) 33 kg/×EõfGÐçf (B) 33 (C) both A & B (D) 33g / GÐçf

A %ç»Ó B =\öÌ̂  / A A[ýe B =\öÌ̂
86. 9 mm = ............. cm.

9 ×].×]. = ................... æ$K÷.×]. / åa.×].*
(A) 0.9 (B) 0.09 (C) 90 (D) 0.009

87. The standard unit of volume or capacity is ................
%çÌ̂ TöX [ýç lù]Töç» YÒç]ç×XEõ AEõEõ ........................* / %çÌ̂ TöX [ýç lù]TöçÌ[ý YÒç]ç×XEõ AEõEõ ........................*
(A) centimetre (B) litre (C) mililitre (D) kilogram

æ$K÷f×]f / åa.×]. ×_Oôç» / ×_OôçÌ[ý ×]×_ ×_Oôç» / ×]×_ ×_OôçÌ[ý ×EõfGÐçf
88. How many triangles can be seen in this drawing ?

A+ ×$JôyäOôçTö ×Eõ]çXOôç ×Åy\ÉöL %çä$K÷ ? / XÝä»JôÌ[ý ×»Jôäy EõÌ̂ ×Oô ×Åy\ÇöL %çä»K÷ ?

(A) 2 (B) 3 (C) 4 (D) 5
89. A cone has ...................... face (s).

`eEÇõ» ............................ Oôç Tö_ %çä$K÷* / AEõ×Oô `áÇøÌ[ý ............................ ×Oô YÊœö UçãEõ*
(A) 1 (B) 2 (C) 3 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂
90. How many corners does this shape below have ?

Tö_» ×$JôyäOôçTö ×Eõ]çXOôç $JÇôEõ %çä$K÷ ? / ×»Jôy×OôãTö åEõçãSÌ[ý aeFîç ...........................*

(A) 6 (B) 10 (C) 12 (D) 13
91. Choose the false statement from the following :

Tö_Tö ×VÌ̂ ç =×Nþã[ýç»» Y»ç %£ˆù =×NþäOôç [ýç×$K÷ =×_C¾ç* / %£ˆù =wøÌ[ý å[ýä»K÷ XçC*
(A) A cuboid has 3 pairs of opposite faces (B) The number of vertices of a cube is 6

AOôç %çÌ̂ TöÝÌ̂  HXEõ» ×Tö×Xã^ç» ×[ýY»ÝTö YÊrô UçãEõ* AOôç HXEõ» [ýç§» aeFîç 6
AEõ×Oô %çÌ̂ TöÝÌ̂  HSãEõÌ[ý ×TöXãLçQÍöç ×[ýYÌ[ýÝTö YÊœö UçãEõ* AEõ×Oô HSãEõÌ[ý [ýç§Ì[ý aeFîç 6

(C) All sides of a square are equal (D) A triangle has three sides
AOôç [ýGï» aEõã_ç [ýç§» ]çY a]çX* AOôç ×Åy\ÉöL» ×Tö×XOôç [ýç§ UçãEõ*
AEõ×Oô [ýãGïÌ[ý aEõ_ [ýç§Ì[ý ]çY a]çX* AEõ×Oô ×Åy\ÇöãLÌ[ý ×TöX×Oô [ýç§ UçãEõ*

92. Difference between the greatest and the smallest number that can be written by the digits 3,1,0,2 is ...............
3,1,0,2 %eEõã» G×PöTö %çOôç+TöêEõ QöçIø» %ç»Ó %çOôç+TöêEõ a»Ó aeFîç» YçUïEõî c÷[ý .........................*
3,1,0,2 %eEõm×_Ì[ý ¥çÌ[ýç G×PöTö a[ý»Jôç+ãTö [ýQÍö A[ýe a[ý»Jôç+ãTö æ»K÷çOô aeFîçÌ[ý YçUïEõî c÷ã[ý .....................*
(A) 1187 (B) 3187 (C) 2187 (D) None of these

AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂



93. 1 4 2 ...........................
7 28 7

+ + =

(A) 7
28 (B)

4
2

(C)

6
7

(D) None of these
AOôçC Xc÷Ì̂  / AEõ×OôC XÌ̂

94. The perimeter of a square whose side is 5.25 mm length will be ...........
5.25 ×].×]. [ýç§ ×[ý×`rô [ýGïãlùy AOôç» Y×»aÝ]ç ......................*
5.25 ×].×]. [ýç§ ×[ý×`rô [ýGïãlùy AEõ×OôÌ[ý Y×Ì[ýaÝ]ç ...........................*
(A) 10.50 mm/×].×]. (B) 21.00 mm/×].×]. (C) 15.75 mm/×].×]. (D) 20.20 mm/×].×].

95. Which of the following sets represents prime numbers ?
Tö_» åEõçXäOôç åGçäOô å]ì×_Eõ aeFîçEõ [ýÇLçÌ̂  ? / XÝä»JôÌ[ý åEõçX×OôãTö a[ýEõÌ̂ ×Oô aeFîç å]ì×_Eõ ?
(A) 2,4,7 (B) 3,7,9 (C) 3,5,7 (D) 10,13,19

96. Number of angles in the following figure is .......................
×$JôyäOôçTö UEõç åEõçS» aeFîç éc÷ä$K÷ ............................ ? / ×»Jôy×OôãTö UçEõç åEõçãSÌ[ý aeFîç c÷_ ..........................*

(A) 4 (B) 2 (C) 3 (D) 1
97. A football is in the shape of a ............................

AOôç ZÇõOô[ý_» %çEÊõ×Tö .................................... / AEõ×Oô ZÇõOô[ýã_Ì[ý %çEÊõ×Tö................................*
(A) circle (B) sphere (C) wheel (D) disc

[ýÊwøçEõç» / [ýÊwøçEõçÌ[ý åGç_çEõç» / åGç_çEõçÌ[ý $JôyÔçEõç» / »JôyÔçEõçÌ[ý Uç_çEõç» / Uç_çEõçÌ[ý
98. 783 trees were equally planted in 9 rows. Number of tree in two rows will be .................

783 åLçYç G$K÷-YÇ×_ 9 Oôç ̀ ç»ÝTö a]çãX å»ç¾ç c÷ã_, Töçã» VÇOôç ̀ ç»ÝTö UEõç YÇ×_» aeFîç c÷[ý ......................*
783 ×Oô »JôçÌ[ýç Gç»K÷ 9 ×Oô `çÌ[ýÝãTö a]çX\öçã[ý åÌ[ýçYS EõÌ[ýç c÷_* +c÷çÌ[ý VÇ×Oô `çÌ[ýÝãTö UçEõç »JôçÌ[ýçÌ[ý aeFîç c÷ã[ý ....................*
(A) 184 (B) 87 (C) 164 (D) 174

99. The first four figures in a pattern are shown below :
AOôç X]ÇXç» YÒU] $Jôç×»Oôç ×$Jôy Tö_Tö åVFÇC¾ç éc÷ä$K÷* / AEõ×Oô X]ÇXçÌ[ý YÒU] »»JôçÌ[ý×Oô ×»Jôy XÝä»Jô åVFçãXç c÷_*

1 step 2 step 3 step 4 step
1 Ø™ö» / Ø™öÌ[ý 2 Ø™ö» / Ø™öÌ[ý 3 Ø™ö» / Ø™öÌ[ý 4 Ø™ö» / Ø™öÌ[ý

If the pattern continues this way how many blocks are needed to make the 5th step ?
^×V A+ X]ÇXçäOôç AãXEÇõ¾ç [ýXç+ UEõç c÷Ì̂  åTöãÜ™ö 5 Oôç Ø™ö» a¶YÉSï Eõ×»[ýê_ ×Eõ]çXOôç [ýÀEõ» V»Eõç» c÷[ý ?
^×V A+ X]ÇXç×Oô AEõ+\öçã[ý [ýçXç+Ì̂ ç ^çCÌ̂ ç c÷Ì̂ , Töã[ý Y‡û] Ø™öÌ[ý×Oô [ýçXçãTö EõÌ̂ ×Oô [ýÀEõ _çGã[ý ?
(A) 15 (B) 18 (C) 21 (D) 23

100. How many three-fourths need to be added to 1 1
2  to make 4

1
2

 ?
1

1
2

» _GTö ×Eõ]çX aeFîEõ ×Tö×X-$JôTÇöUïçe` å^çG Eõ×»ã_ å^çGZõ_ 4

1
2

 c÷[ý ?

1

1
2

 AÌ[ý açãU EõÌ̂ ×Oô ×TöX-»JôTÇöUïçe` å^çG EõÌ[ýã_ å^çGZõ_ 4

1
2

 c÷ã[ý ?
(A) 16 (B) 12 (C) 8 (D) 4

XXXXX


